Greek 102
Review for Midterm 1
Athenaze, Chapters 11-14

VERBS: terms

Tense: tells the time an action occurs, e.g., present, future, or past

Voice: tells who is doing or is affected by the action (active, middle, passive)
Mood: indicates the manner or mode of an action (indicative, imperative,
infinitive, participle)

Aspect: the way someone looks at an action, e.g., continuing or simple

. INDICATIVE MOOD: Verbs with primary endings
Active Middle
Singular Plural Singular Plural

Present Tense: “I order, I am ordering; I receive, I am receiving”

Pres stem + -w -opev -opot -opeOa
-€1G -eTe -g(oa)t -e00¢
-€L -ovo(v) -eTal -ovtal
KeAeLW KeAgvopev déxopat dexopeba
KeAeVeLg KeAevete OéxelL OéxeoBOe
KeAevel KeAevova(v) déxetal déxovtat

Future Tense: “I will order, I will receive”

Pres stem + 0 + -w -OpEV -opot -opeOa
-€1G -eTe -g(oa)t -e00¢
-€L -ovoy(v) -eTal -ovtal
KeAEVOW KeAgvoouev déEopat deEoueda
KeAevoelg  keAegvoete 0é&eL 0é&eoBe
KeAevoel KkeAevoovoL(V) Oé&etal déEovtal

Verbs with liquid and nasal stems: Look like e-contract verbs

Since adding a o to the stem would be difficult, Greek adds an ¢ before the o.
Then the intervocalic o drops out and a contract verb results.

Hev + € + (0) + primary endings

Hev+e+(0)+w pev + €+ (0) + opev HEVW Hevovuev
Hev+e+(0)+egc pev+e+(0)+ete Hevelg pevette
Hev+e+(o)+et  pev+e+ (o) +ovouv) pevet pevovoy(v)



II. INDICATIVE MOOD: Verbs with secondary endings

Augment: always added before the stem; used only with the indicative mood

Syllabic: when a stem begins with a consomnt, add an e- before the stem

Temporal: when a stem begins with a vowel, lengthen the vowel, e.g., a/e -->n
When a stem begins with a diphthong, lenthen the first of the two vowels.
If the second vowel is an iota, write the iota as a subscript, e.g., altéw -->

nnoa

Aorist Tense: “I ordered, I received”
Sigmatic Aorist (1%t Aorist) -oa-

Augment + Pres stem + oo +--  -pev -unv -ueba
-G -Te -(0)o -00¢
e(v) -v -TO -VTO
xéAevoa  ExeAgvoapev edelapunyv  &delapeda
ekéAevoag ekeAsvoate edé&w edéEnoBe
exéAevoe(v) exkéAevoav edéEato edéEavto

Verbs with liquid and nasal stems: asigmatic 1% aorist -(0)a-

Since adding a o to the stem would be difficult, the -o- is lost and only the -a-
remains. To compensate for the loss of the o, these verbs lengthen the stem
vowel.

lengthened
Augment+ stem +o+-- -uev -unv -ueba
-G -Te -(0)o -00¢
e(v) -v -TO -VTO
Eueva guetvapev ATIOKQLVAUNV ~ ATIOKQLVAeTOa
éuevag éuelvarte ATOKQIV@Ww  amokEivaoOe
Euewve(v)  Euewvav ATIOKQLIVATO ATIOKQIVAVTO

Aorist Tense: Thematic Aorist (2"¢ Aorist) shortened stem
shortened thematic

Augment + stem + vowel +-v -uev -unv -ueba
-G -Te -(0)o -00¢
e(v) -v -TO -VTOo
E&-Aap-o-v  E-Aap-o-pev éyevounv  éyevoueOa
E-Aaf-e-c &-AdP-e-te gyévou gyéveoOe

E-Aap-¢e &-Aap-o-v éyéveto £yévovto



Imperfect Tense: “I was taking, I was becoming”

Present thematic

Augment + stem + vowel + -v -uev
-G -Te
e(v) -v

&-Adupav-o-v
&-AapPav-g-g
E-Adupav-g(v)

&-AauPav-o-pev
E-AapPav-e-te
-Adupav-o-v

-unv -ueba

-(0)o -00¢

-TO -VTO
Eyryvounv  &yryvopeba
&ytyvov &ylyveoOe
gytyveto gylyvovto

Contract verbs: like the present tense, contractions do occur in the imperfect

IMPERATIVE MOOD

Present Imperative Active

Pres stem +-¢  -ete
AKOLE  AKOVETE
dAer  PlAette
Tipo TIUATE

Meaning: Listen! Love! Honor!
(continuous action)

Present Imperative Middle

Pres stem +-ov -e00¢
déxov déxeoBOe
dopPov  PoPelobe
Oéw BeaoBe

Meaning: Receive! Fear! Watch!
(continuous action)

2nd Aorist Imperative Active
Aor. Stem +-¢  -ete

AdBe  AaPete
Meaning: Take! (simple action)

2nd Aorist Imperative Middle
Aor. stem +-ov  -e00¢
AaBov  AaPecOe
Meaning: Take hold of! (simple action)

1t Aorist Imperative Active (sigmatic)
Pres stem + -oov  -oa-te
AKOVOOV  AKOVOATE

Meaning: Listen! (simple action)

1t Aorist Imperative Middle(sigmatic)
Pres stem + ca +-1 -00¢

0¢Eal  déEnoDe
Meaning: Receive! (simple action)

INFINITIVES

Present: pres stem + etv  keAevewy

Pres stem + -ecBat déxeoBal

Future: pres stem + 0 + etv  keAevoewy

pres stem + 0 +-ec0at  déEecOat

2nd Aorist: Aor. stem +-etv - A&Bery

Aor. Stem +-e00at  yéveoOat

1t Aorist: pres stem + oat  keAevoal

Aor. Stem + oo + 00t OéEaoBat

PARTICIPLES
Participle is a verbal adjective.

It is formed by combining a verb stem and an adjective ending.

Like a verb, it may have a direct object or prepositional phrase.

Like an adjective, it modifies a noun. Therefore, the participle must agree with

the noun it modifies in gender, number, and case.




Present Participle Active

Formation: Pres stem + -wv -ovoa —ov

Nom. BaAAwv BaAAovoa BaAAoy,

Gen. BdAAovtog BaAAovong

BaAAovtog

Nom. prAwv prAovoa priovy,

Gen. prAovvtog prAovong prAovvtog

Nom. TIp@OV TIHOWoX TLIWY,

Gen. TIHOVTOS TIHWONG TILWVTOG

Meaning: throwing, loving, honoring
(continuous action)

Present Participle Middle

Formation: Pres stem + -6pevog -
opévn -Opevov

Nom. éoyalopevog éoyalopévn
goyalouevov, Gen.
éoyalopévou éoyalopévng
goyalopévou

Nom. pofovpevog dpoovpévn
dopovuevov,

Nom. Oewpevog Oewpévn Bewpevov,

Meaning: working, fearing, watching
(continuous action)

Future Participle Active

Formation: Pres stem + o + -wv -ovoa —

oV

Nom. keAevowv keAevoovox
keAevoov, Gen. keAeOOVTOG
KeAgLOOVOTC KEAEVOOVTOG

Meaning: about to/going to order

Future Participle Middle

Formation: Pres stem + 0 -Opevog -
OULEVT) -OpLEVOV

Nom. deEdpevog delopévn
defopevov, Gen. defopévov
deloupévng defopévov

Meaning: about to/going to receive

2nd Aorist Participle Active (thematic)
Formation: Aor. stem + -wv -ovoa —ov

Nom. BaAwv Barovoa BaAov,

Gen. BdAovrtog PaAovong PaAovtog

Meaning: having thrown, throwing
(simple action)

2nd Aorist Participle Middle (thematic)

Formation: Aor. stem + -Opevog -
opévn -Opevov

Nom. yevopevog yevopévn
vevopevov, Gen. yevouévou
YEVOUEVNG YEVOUEVOU

Meaning: having become, becoming
(simple action)

1t Aorist Participle Active (sigmatic)

Formation: pres. stem + -oa- + - wv -

ovoa —ov where the “0” vowels drop

Nom. keAevoag keAevoaox
keAevoav, Gen. keAevoavTOg
KeAgvodong keAevoavTog

Meaning: having ordered, ordering
(simple action)

1t Aorist Participle Middle (sigmatic)

Formation: pres. stem + -oa- + pevog -
HéVN -pevov

Nom. deEdapevog deapévn
defapevov, Gen. defapévov
delapévng delapévou

Meaning: having received, receiving
(simple action)

Endings: 1*t and 3¢ declension (like
TIAG TIAOK TIAV)

Endings: 1*t and 27 declension (like
KAAOG KAAT) KAAOV)




Example:
0 AtkatdmoA g mavta Oeuevog 1moQEeL TTOL det LNTELV VALV Tva_TOg TV
Entidavoov mAevoopévnv. téAog 0¢ mavteg v olvoTtwAiw Tvt kaBloduevot

olvov TjTnoav.

“Dikaiopolis, watching everything (over a period of time), was at a loss where
(he) must look for a ship about to sail (future) to Epidauros. Finally, everyone sat
down/sitting down/having sat down (simple action) in some wineshop, asked for
wine.”

The first participle describes Dikaiopolis and is nominative singular, the second
is accusative because it describes the ship, and the third is nominative plural
because it describes the subject “everyone.” To get across the simple action
involved in the last participle (which is aorist), it is sometimes better to translate
it as a main verb parallel to the simple action involved in asking for wine.

PRONOUNS

Relative Pronouns:

Function: relates/connects the main clause to a subordinate clause

Formation: endings similar to the article, but the relative pronoun 1) always has
rough breathing, 2) always has an accent, and 3) the letter tau drops.

Syntax: the relative pronoun gets its gender and number from its antecedent (the
word earlier in the sentence to which it refers). It gets its case from how it
functions within the relative clause itself (e.g., subject, direct object, possessive).
Meaning in English: who, whose, to whom, whom, which, that

Examples:

TOV Onoéa 0¢ NmoeL Ti del motelv EkaAeoe 1) AQLadvn.

“Ariadne called Theseus who was at a loss what (he) must do.”

The relative pronoun O¢ refers to Theseus, its antecedent, and gets its gender and
number from him (masculine singular). Within the relative clause, 6¢ acts as the
subject of N)topet (Theseus was at a loss) and must therefore be nominative.

émel €k oL AaPupivOov €ENABOV, ol étaigol oG owlely edvvato 0 Onoevg TOV

AQLaxdvnv maa M) vt pévovoav €00v.

“When they exited from the labyrinth, the companions whom Theseus was able
to save saw Ariadne waiting near the ship.”

Here ol £taigol are the antecedent, indicating that the gender and number of the
relative pronoun are masculine plural. Within the relative clause og functions
as the direct object of oCetv (Theseus was able to save them) and so must be
accusative.



Demonstratives
Function: call attention to particular words
Formation: endings similar to the article
Syntax: must occur in the predicate position (i.e., not immediately after the
article)
Examples: o0tog 6 otoatitng or adTn 1) vavg or o dévOQOoV ToUTO

Meaning:  o0Utog avtn tovTo this

éietvog €xelvn éxetvo that

00¢e 110¢e 100¢ this one here, the following

ADJECTIVES

There are three degrees of adjectives.

Positive (what you already know) Comparative Superlative

1st-2nd declension adjectives 1st-2nd decl. endings 1st-2nd decl. endings
HWOOC HWOA HWEOV HWQOTEQOG -0t -0V HWEOTATOG -1 -0V
00pOg coPT) OOV 00PWTEQOS -&X -0V 00PWTATOC -1) —OV

the o at the end of the stem lengthens to w when the syllable preceding it is short

34 declension adjectives  1t-2nd decl. endings 1st-2nd decl. endings
aAnONc aAnBég aAn0OeoteQog -a -ov aAnOéotatog -1 -ov
oWPOWV CWPEOV OwWPEOVETTEQOG -0t -0V OWPQOVECTATOG -1 -0V
Examples:

alTAL Al TOU)QELS EL0L UAKQOTEQAL T) EKELVAL, AAAX AUTI) €0TL LAKQOTATN.
“These triremes are longer than those, but this one is the longest.”

TavTa T telyn €0t BePatotepa twv exelvwv. “These walls are firmer than
those” (using the genitive of comparison instead of 1)).

ot "EAANVveg elxov dvdpelotdTovg oteaTIdTAg.
“The Greeks had the bravest soldiers.”

N. B. You will learn the irregular comparatives and superlatives on p. 271 for the
next test.

CULTURE
ancient medicine, trade and colonization, the rise of Persia



